Series 92 Detroit Diesel Engines
CYLINDER HEAD - groups: 1.2001 - 1.2090

_— EEOEE S s W & FAE =

4 sales@powerlinecomponents.com
& International: 1-307-885-4724
& US (Toll Free): 877-885-4724

Search Part Number

Submit

@ P C Industries

Information Abbreviations Alphabetical Index Group Index

Cylinder Head

Groups:
1.2001 -1.2090

Part Description Group | Ref# |6V [8V |12V |16V | Price | QOH
No.
Details 5103922 | Plug, Cylinder Head Vent (3/8" Pipe Hole) 1.2001 00 |[A/R|A/R| A/R | AR | $35.74| 34
Details 8927270 | Stud, 3/8"-16/24 X 1 11/16" (W/ Water Manifolds) | 1.2001 00 |A/R(A/R| A/R | AR $1.23| 1273
(5.2020)
Details 5152148 | Washer, 3/8" X 9/16" (Copper) (2.4050) 1.2001 00 |A/R|{A/R| AR | A/R $0.17| 735
Details 103321 Lockwasher, 3/8" (12.9200) 1.2001 20 |A/R({A/R| A/R | AR $0.32| 66
Details 103026 Nut, 3/8"-24 (12.9120) 1.2001 21 |A/R|A/R| AR | AR $0.37 | 1134
Note: Head Gasket Kit Contents Located in GROUP 12.8716
Details 5199673 | Gasket Set, Cylinder Head (6V, 12V) (Services 1.2002 00 2 4 $35.01 7
One Head)
Details 5199674 | Gasket Set, Cylinder Head (8V, 16V) (Services 1.2002 00 2 4 $45.43 | 280
One Head)
Details 5100404 | Gasket, Cylinder Head Compression 1.2010 00 6 8 12 16 $5.03| 146
Details 5119972 | Ring, Cylinder Head Oil Seal (Head To Block)(6V, | 1.2020 00 2 4 $2.85| 16
12V)
Details 5119973 Ring, Cylinder Head Oil Seal (Head To Block)(8V, 1.2020 00 2 4 $2.81 13
16V)
Details 5148502 | Ring, Cylinder Head Oil Seal 1.2020 00 26 | 34 | 52 68 $0.92| 348



https://www.powerlinecomponents.com/catalog/detroit-diesel-92/3.1/cylinder-head
https://www.powerlinecomponents.com/catalog/detroit-diesel-92/5/crankshaft
https://www.powerlinecomponents.com/catalog/v92_general_information.htm
https://www.powerlinecomponents.com/catalog/abbreviations.htm
https://www.powerlinecomponents.com/catalog/v92_alpha_index.htm
https://www.powerlinecomponents.com/catalog/v92_group_nomenclature.htm
https://www.powerlinecomponents.com/catalog/do_ShowItemImages.php?manufacturer=detroit-diesel&partnumber=5103922
https://www.powerlinecomponents.com/detroit-diesel/5103922/plug
https://www.powerlinecomponents.com/catalog/do_ShowItemImages.php?manufacturer=detroit-diesel&partnumber=8927270
https://www.powerlinecomponents.com/detroit-diesel/8927270/stud-38-1624x1-1116
https://www.powerlinecomponents.com/catalog/do_ShowItemImages.php?manufacturer=detroit-diesel&partnumber=5152148
https://www.powerlinecomponents.com/detroit-diesel/5152148/copper-washer-38x916
https://www.powerlinecomponents.com/catalog/do_ShowItemImages.php?manufacturer=detroit-diesel&partnumber=103321
https://www.powerlinecomponents.com/detroit-diesel/103321/lock-washer-38
https://www.powerlinecomponents.com/catalog/do_ShowItemImages.php?manufacturer=detroit-diesel&partnumber=103026
https://www.powerlinecomponents.com/detroit-diesel/103026/nut-38-24-hex
https://www.powerlinecomponents.com/catalog/detroit-diesel-92/273/cylinder-head-gasket-kit-contents-for-part-s-5199673-5199674
https://www.powerlinecomponents.com/catalog/do_ShowItemImages.php?manufacturer=detroit-diesel&partnumber=5199673
https://www.powerlinecomponents.com/detroit-diesel/5199673/cylinder-head-gasket-set-6v92
https://www.powerlinecomponents.com/catalog/do_ShowItemImages.php?manufacturer=detroit-diesel&partnumber=5199674
https://www.powerlinecomponents.com/detroit-diesel/5199674/cylinder-head-gasket-set-8v92
https://www.powerlinecomponents.com/catalog/do_ShowItemImages.php?manufacturer=detroit-diesel&partnumber=5100404
https://www.powerlinecomponents.com/detroit-diesel/5100404/cylinder-head-gasket
https://www.powerlinecomponents.com/detroit-diesel/5119972/seal-ring-3-6v-cylinder-head
https://www.powerlinecomponents.com/catalog/do_ShowItemImages.php?manufacturer=detroit-diesel&partnumber=5119973
https://www.powerlinecomponents.com/detroit-diesel/5119973/seal-ring-4-8v-cylinder-head
https://www.powerlinecomponents.com/catalog/do_ShowItemImages.php?manufacturer=detroit-diesel&partnumber=5148502
https://www.powerlinecomponents.com/detroit-diesel/5148502/seal-ring-cylinder-head-oil
https://www.powerlinecomponents.com/index.html

of

ol

of

ol

of

ol

of

ol

of

ol

of

ol

1=

Details 5148324 | Bolt, 11/16"-11 X 5.50"L. Cylinder Head 1.2030 22 16 | 20 | 32 40 $8.31| 580
Details 5148310 | Washer, 11/16" Cylinder Head 1.2030 23 16 | 20 | 32 40 $4.18| 164
Details 8925981 | Kit, Injector Hole Tube (Includes Seal In 1.2046) 1.2045 24 6 8 12 16 | $10.55| 1375
Details 5104701 | Ring, Injector Hole tube Seal 1.2046 04 6 8 12 16 $1.88| 30
Details 5150268 | Cover, Cylinder Head Governor Hole (Plain) 1.2050 00 7 7 14 14 $2.72| 806
Details 5104089 | Bolt, 1/4"-20 X 1/2"L. (W/Seal Patch)(12.9190) 1.2050 00 16 | 16 | 32 32 $0.89 6
Details 120392 | Washer 1/4" (12.9190) 12050 | 00 |16 |16 | 32 | 32 | $0.82| 31
Details 5123812 | Gasket, Cylinder Head Governor Hole Cover 1.2060 00 8 8 16 16 $0.32( 1076
Details 5109900 | Bracket, Engine Lifting (Front) 1.2070 25 |A/R|A/R $18.06 | 29
Details 5117174 | Bracket, Engine Lifting (Front) 1.2070 26 |A/R|A/R| A/R | A/R | $20.52| 74
Details 5137761 Bracket, Engine Lifting (Rear) 1.2080 27 |A/R|A/R| A/R | A/R | $19.26 32
Details 5117332 | Gasket, Engine Lifting Bracket 1.2090 00 |A/R(A/R| A/R | A/R $0.88| 24
Details 5175882 | Spacer, Engine Lifting Bracket (4.4115) 1.2090 00 (A/R|A/R| A/R | A/R | $0.92 0
CONTINUE TO NEXT PAGE FOR GROUP 1.3001

Information Abbreviations Alphabetical Index Group Index

© 2021 P C Industries, LLC
POWERLINE COMPONENTS® is a registered trademark of P C Industries, LLC

It is the policy of P C Industries, LLC to comply in every respect with the export laws of the United States of America.

4[2]



https://www.powerlinecomponents.com/catalog/detroit-diesel-92/3.1/cylinder-head
https://www.powerlinecomponents.com/catalog/detroit-diesel-92/5/crankshaft
https://www.powerlinecomponents.com/catalog/do_ShowItemImages.php?manufacturer=detroit-diesel&partnumber=5148324
https://www.powerlinecomponents.com/detroit-diesel/5148324/bolt-1116-11x555
https://www.powerlinecomponents.com/catalog/do_ShowItemImages.php?manufacturer=detroit-diesel&partnumber=5148310
https://www.powerlinecomponents.com/detroit-diesel/5148310/washer
https://www.powerlinecomponents.com/catalog/do_ShowItemImages.php?manufacturer=detroit-diesel&partnumber=8925981
https://www.powerlinecomponents.com/detroit-diesel/8925981/injector-hole-tube-wseal
https://www.powerlinecomponents.com/catalog/do_ShowItemImages.php?manufacturer=detroit-diesel&partnumber=5104701
https://www.powerlinecomponents.com/detroit-diesel/5104701/injector-tube-seal-ring
https://www.powerlinecomponents.com/catalog/do_ShowItemImages.php?manufacturer=detroit-diesel&partnumber=5150268
https://www.powerlinecomponents.com/detroit-diesel/5150268/cover-governor-breather-hole
https://www.powerlinecomponents.com/catalog/do_ShowItemImages.php?manufacturer=detroit-diesel&partnumber=5104089
https://www.powerlinecomponents.com/detroit-diesel/5104089/bolt
https://www.powerlinecomponents.com/catalog/do_ShowItemImages.php?manufacturer=detroit-diesel&partnumber=120392
https://www.powerlinecomponents.com/detroit-diesel/120392/washer-14
https://www.powerlinecomponents.com/catalog/do_ShowItemImages.php?manufacturer=detroit-diesel&partnumber=5123812
https://www.powerlinecomponents.com/detroit-diesel/5123812/cylinder-head-governor-hole-cover-gasket
https://www.powerlinecomponents.com/catalog/do_ShowItemImages.php?manufacturer=detroit-diesel&partnumber=5109900
https://www.powerlinecomponents.com/detroit-diesel/5109900/bracket
https://www.powerlinecomponents.com/catalog/do_ShowItemImages.php?manufacturer=detroit-diesel&partnumber=5117174
https://www.powerlinecomponents.com/detroit-diesel/5117174/engine-lifting-bracket
https://www.powerlinecomponents.com/catalog/do_ShowItemImages.php?manufacturer=detroit-diesel&partnumber=5137761
https://www.powerlinecomponents.com/detroit-diesel/5137761/bracket-engine-lifting-lbrb
https://www.powerlinecomponents.com/catalog/do_ShowItemImages.php?manufacturer=detroit-diesel&partnumber=5117332
https://www.powerlinecomponents.com/detroit-diesel/5117332/engine-lifting-bracket-gasket
https://www.powerlinecomponents.com/catalog/do_ShowItemImages.php?manufacturer=detroit-diesel&partnumber=5175882
https://www.powerlinecomponents.com/detroit-diesel/5175882/oil-cooler-adapter-gasket
https://www.powerlinecomponents.com/catalog/v92_general_information.htm
https://www.powerlinecomponents.com/catalog/abbreviations.htm
https://www.powerlinecomponents.com/catalog/v92_alpha_index.htm
https://www.powerlinecomponents.com/catalog/v92_group_nomenclature.htm

